% ® £ £ F B & #®
% o) 7 B ZAEB QT 1 3 2 3 3 £
B K o Ed] i 2 2
= B3 X 4 2 3
E -
Bl B Ed] i 4 2 2
X kS Ed| B 4 2 2
i bl #® & 2 2
ih I R
B -3 # & 2 2
N =5 N 3t 2 2
# % I 3 3
£ 2 # % A 2 2
HEEBREZT(2) 2
B FE L A M E E 2 2
] e
% 7] H i 2 2
& ] 7~8 3 2 2
REKE
7® 7 2 1 1
] S I 2 20
= i ES i I 2 20
= B I 2 20
EEazaz=sr—vavil 3 3
N B FE RFEISazs7—vavl 4 4
HFEQSaz=Hy—2avi 4 4
ES 3 ES BE # & 4 2 2
1% R 1% R I 2
EFRICHABTIEEH -HEOHEMNEDE 23 19 14
5 F OE ¥ O OB 2 1 1
ES =] i %® 2~6 2 2
5 F E X B OB 2~6 2
Jrviar iR EE 2~6 2
J 7 v Y ay E® 4~10 2% 63%
7 — K F ¥ a4 v 2~6 2
ES BE ] ] 6~15 20 60
(77‘y~‘/3>:|§:1:-‘r4547) 2%
Trvav P lIT A1 (F) 2%
Trvav P I A1 (F) 4%
T—RaZa=F4547 (%) 20
TJ—FOUTAFI (%) 20
TJ—RKO2UT AT () 40
FELTEMERIIBVTHRSNDEEH BB ORMH DG 5 9 14
7 =] o B & H o &t 28 28 28
HREE R — L L — L F OB 35 35 35
A M BT B R OB M 3~6 1 1 1
B s £ ] #® H 29 29 29
B &5 = Y B O EFE OB K 30 30 30
® 5 VR |ornhoimER RED




